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1. ' MDNLH" RGOHJáR�F $)(���� U]HZ �* QDMGRZD + VL
�URZHU]\VWD ,.- �0/ �UR]SRF]
WR�SRPLD1 F]DVX�" 

A) 20m  B) 15m C) 10m D) 0m 
 
����,O 2 VHNXQG�URZHU]\VW 354 EOL*D 6 VL
�GR�GU]Hwa ? 

 A)  4s  B) 6s  C) 8s  ' 7 5RZHU]\VW 8 W\ONR�RGGDOD 9 VL
�RG�GU]HZD 
 

 
3. : NWyUH; VHNXQG]L < UXFKX�URZHU]\VW 8 PLQ� 9 GU]HZR�" 

A) W czwartej sekundzie.   B) W szóstej sekundzie. 
& =�> G]LHVL�WH? VHNXQG]LH��  ' = 5RZHU]\VW @ QL A PLMD B GU]HZD� 
 

4. W której sekundzie rXFKX�]PLHQ C B VL
�]ZUR D SU
GNR�F C URZHU]\VWEGF URZHU]\VW @ ]DZUyF C B)= " 
A) W czwartej sekundzie.   B) W szóstej sekundzie. 
& =�> G]LHVL�WH? VHNXQG]LH��  ' = 5RZHU]\VW @ MHFKD B FDá\�F]D HJI W
�VDP��VWURQ
� 
 
 

5. -DN K MHV L ZVSyáU]
GQ K SRáR*HQL K SRF]�WNRZHJ M �[0 ) oraz ZVSyáU]
GQ N SRáR*HQL N NR�FRZHJ O
(x k ) rowerzysty ? 
A) x0  = 20m ,  x k =20m   B) x0  = 20m ,  x k =10m 
C) x0  = - 20m ,  x k =20m   D) x0  = - 20m ,  x k =10m 

 
6. -DN��ZDUWR� P P Q ZHNWRR SU]HPLHV]F]HQL Q URZHU]\VW\�SR���VHNXQGDF S UXFKX�" 

A) 20m  B) 30m  C) 40m  D) 50m 
 

����-DN� T URJ
�SU]HMHFKD U URZHU]\VW VXW F]DVL Y ���VHNXQG�" 
A) 20m  B) 30m  C) 40m  D) 50m 


